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Study the data in the given table and answer the questions that follow

The table below provides data on the percentage (%) distribution of job vacancies in IT
companies situated in various Indian cities in the year 2009 and 2019. In the year 2009, the
total number of vacancies was 5.4 lakhs and in the year 2019, it was 8.6 lakhs.

City Percentage (%) of Job Vacancies
2009 2019

Bangalore |15 22
Hyderabad|10 8

Pune 12 6

Mumbai |10 18

Chennai |3 10

NCR 21 20

Other

cities 2 1

Sub questions

Question Number : 1 Question Id : 2105298915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of vacancies available in the city of Bangalore in

the year 2019 and 20097

1. 108200
2. 113120
3. 118400
4. 96400
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Options :
21052935001. 1
21052935002. 2
21052935003. 3
21052935004. 4

Question Number : 2 Question Id : 2105298916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of vacancies available in the city of Hyderabad in the year 2009

and 20197

1. 41080

2. 42740

3. 58610

4. 61400
Options :
21052935005. 1
21052935006. 2
21052935007. 3
21052935008. 4

Question Number : 3 Question Id : 2105298917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the total number of vacancies available in the city of Chennai in 2009 and in that of

Mumbai in the year 20197

1. 2.16 lakhs
2. 2.04 lakhs
3. 1.98 lakhs
4. 1.92 lakhs
Options :
21052935009. 1
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21052935010. 2
21052935011.3
21052935012. 4

Question Number : 4 Question Id : 2105298918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the number of vacancies in the city of Pune is 48000 in the year 2019 and the percentage
distribution is the same as given in the table, then what is the number of vacancies available in
NCR in 20197

1. 1.2 lakhs

2. 1.32 lakhs
3. 1.48 lakhs
4, 1.6 lakhs
Options :
21052935013 1
21052935014. 2
21052935015.3
21052935016. 4

Question Number : 5 Question Id : 2105298919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the approximate percentage rise seen in vacancies available in the city of Hyderabad

from 2009 to 20197

1.21.8 %
2.23.23 %
3.26.23 %

4, 27.41 %
Options :
21052935017. 1

21052935018. 2
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21052935019. 3
21052935020. 4

Question Id : 2105298914 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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e 2009 2019
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T E AR 21 20
3T TR 24 16

Sub questions

Question Number : 1 Question Id : 2105298915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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AR TEX | a8 2019 3R 2009 # Iuae Riaaal &1 T & A9 3 a1 g ?

1. 108200

2. 113120

3. 118400

4. 96400
Options :
21052935001. 1
21052935002. 2
21052935003. 3
21052935004. 4

Question Number : 2 Question Id : 2105298916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¥ 2009 3R 2019 H gEICE We H Iua« Rfgadl ot 3igd =1 ol § 2

1. 41080
2. 42740
3. 58610
4. 67400
Options :
21052935005. 1
21052935006. 2
21052935007. 3
21052935008. 4

Question Number : 3 Question Id : 2105298917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ay 2009 H I3 WeX H 3R gz H a4 2019 H Iucisd Ridadl &f o w1 fava-i & 2

1. 2.16 Tid

2. 2.04 did
3.1.98 did
4.1.92 <id
Options :
21052935009. 1
21052935010. 2
21052935011. 3
21052935012. 4

Question Number : 4 Question Id : 2105298918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a5 gy 2019 9 qur & Rfgaa! &1 9= 48000 € 3R Ufw faaor o 9rofi § Gan g &
TR B, 91 94 2019 H U7 91 3R F Iucis Ridag! i @& ol 8 2

1. 1.2 Al

2. 1.32 ¢l

3. 148 7id

4. 1.6dd
Options :
21052935013. 1
21052935014. 2
21052935015. 3
21052935016. 4

Question Number : 5 Question Id : 2105298919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ay 2009 ¥ 2019 T gEElG Xex H Suas Riaadl & ame feas nfawa @1 af GErs adl & 7

1.21.8 %
2.23.23 %
3.26.23 %

4, 27.41 %
Options :
21052935017. 1
21052935018. 2
21052935019. 3
21052935020. 4

Sub-Section Number : 2
Sub-Section Id : 210529343
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which level of teaching, the activities of structuring, guiding and closely supervising the

students’ behavior predominate?

1. Autonomous development level
2. Reflective level

3. Understanding level

4. Memory level

Options :

21052935021. 1

21052935022. 2

21052935023. 3

21052935024. 4

Question Number : 6 Question Id : 2105298920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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fareor & forg TR o O, Feem ofR faenfifal & =iasR &1 Fide T uddenr & &t fafafiaf
DUl aidi 6 ?

1. WA [dHg 'R
2 fguelf - =R
3, Y - TR

4, FA &R
Options :
21052935021. 1
21052935022. 2
21052935023. 3
21052935024. 4

Question Number : 7 Question Id : 2105298921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following constitutes the "ability’ (can do) component for describing the
competence of a teacher?

A. Confidence in performing teaching task

B. Knowledge of the subject being taught

C. Skill in analysing the learning tasks

D. Experience in handling learning task related situations
E. Commitment to organizing teaching-learning tasks
Choose the correct answer from the options given below:

1. B, C and D only
2. A, Band Conly
3. A, Cand D only
4.C, D and E only
Options :
21052935025. 1
21052935026. 2
21052935027. 3
21052935028. 4

Question Number : 7 Question Id : 2105298921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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fordl Freid &1 armar @f aftld & gg MElaRad § 9 ©H-9 38d &l (@ Jdbdl/ bl g)
e Bl FAU B 8 ?

A. 10 BT B H STeiayrE

B. UGIU W-ald f[d9g &1 I

C. SfTH B & (AW Bt Gardl

D. SHTETH B 9 W31 URRURGG! &1 GHTTH B 3HT
E. TRI&TUT-24feTH B1d SATGIfSTd B Bl Uidegdl

i f&u ¢ famedl # 9 Wl I g :

1. ®ga B, C AR D
2. BAUA, B AR C
3. Bad A, C AR D
4. H3AC, DIARE
Options :
21052935025. 1
21052935026. 2
21052935027. 3
21052935028, 4

Question Number : 8 Question Id : 2105298922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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When reflective level teaching and learning are successful, students emerge with
A. A strong logical basis to retain the information

B. An enlarged store of tested insights of a generalized character

C. A firm relational structure in the items of information

D. An enhanced ability to develop and solve problems on their own

E. Seeing relationship and tool use of a fact

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
Options :
21052935029. 1
21052935030. 2
21052935031. 3
21052935032. 4

Question Number : 8 Question Id : 2105298922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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e =it <R e SfR o™ uwa gid § of faenfal § Fofifed o SR ar 9 i § -
A. a1 & YRU §q ¢ dlidd YR

B. TG UPid &1 URWE! g5 odIud SHdeiy

C. GaHIadl H U =6 HdATd ldl

D. FHE131] & A ad B3 Ud I W0 FHIHH B DI HHgs &l
£, foo el T2 @1 Hae 941 3R 34 918 & ¥4 H YR ®A

i feu e fdmedl & 9 98 SR g

1. Had A 3T B

2. HAAB AR D

3. Hdd C IR D

4. HadD AR E

Options :

21052935029. 1

21052935030. 2

21052935031. 3
21052935032. 4

Question Number : 9 Question Id : 2105298923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A model of teaching is a description of

1. Teacher behaviour including teacher and student talk
2. Learning environment including teaching behaviour

3. Learner-behaviour including personality characteristics
4. Subject matter including its logical structure

Options :
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21052935033. 1
21052935034.2
21052935035.3
21052935036. 4

Question Number : 9 Question Id : 2105298923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

2101 @1 ufoA= FafaRed & J foa® TaRu avH gidT & 2

1. 16/ aeR forgd fRraid @ ardf 2nfad g

2. T - afkaw forae e - o3aeR o e B
3. RS sadeR forad aafdaw & U AHd |
4. fowg-awg forge fawg &t aifd® gxa=n =nfaa 21
Options :

21052935033. 1

21052935034. 2

21052935035. 3

21052935036. 4

Question Number : 10 Question Id : 2105298924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements

Statement I: Maximum performance tests are designed to assess the upper limits of the
examinee’'s knowledge and abilities

Statement lI: Typical response tests are designed to measure the behaviour and
characteristics of examinees

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052935037. 1

21052935038. 2

21052935039. 3

21052935040. 4

Question Number : 10 Question Id : 2105298924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A C AT LS

HYA-| : AMUHIT FeaTe TiE GRiETial & 4 3R &Fa & FU S 1 &1 HTHad I &
o 9 TOR [T 9d g |

Po-11 - fafTy srgfepan amefed uiamn wianfial & saaeR SR 0 BT 710 $ 7 <R BT
oI B

Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. TYF | 3R 1| GHf T8l 8

2. HYA | 3R 1 GIHf el T8l B

3. BYH-1 9e1 g, fbg dYH-11 981 181 |
4. DYH-1 TE! 7ol 6, foowq -1 98l 5|
Options :

21052935037. 1

21052935038. 2

21052935039. 3

21052935040. 4

Question Number : 11 Question Id : 2105298925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"A university teacher plans to study the performance of students in implementing specific

projects in terms of their creativity level”.

Which method of research will be appropriate to use in this context?

1. Historical method

2. Descriptive survey method
3. Experimental method

4. Ex post facto method
Options :

21052935041. 1
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21052935042. 2
21052935043. 3
21052935044. 4

Question Number : 11 Question Id : 2105298925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

13 fayfaeray Ree faenfial & gomeas R & gy F fafly uivieey sifad a1 &
3 ST BT 0 ® @] dio] §41dl 1 * 39 deY § Hefafad 5 9 o=-dt =iy &
IUge Bl

1. UfceTiya fafd

2. qUIHTHS Haer fafd
3. ORI fafe

4, HIERR fafd

Options :
21052935041. 1
21052935042. 2
21052935043. 3
21052935044. 4

Question Number : 12 Question Id : 2105298926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following features of research are associated with qualitative-inquiring?
A. Actual settings as the direct source of data

B. Data collection under controlled conditions

C. Concern with process rather than simply with outcomes

D. Establishing relationships and explaining the causes of changes

E. Concerned with what are called participant perspectives

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, CandE only
3.B,Cand D only
4.C, D and E only
Options :
21052935045. 1
21052935046. 2
21052935047. 3
21052935048. 4

Question Number : 12 Question Id : 2105298926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ey B FHefafea ® 9 oH-0 o= Toners odyH 9 SEfia g
A. UEdl & Udal did & ¥ H T4 uRiRyfel

B. T uRRulaal H e ddoH

C. AT URUIA & Sog Yiehal &l 1 &= # 3@

D. TeHll &I TUd BT AR GRac-1 & DRUI DI HRAT DA

£ eIl ufued &l & H @l

il fgu e fawedt & @ 9d Sw g -

1. ®ad A, C 3R D

2.®ad A, C 3R E

3. Had B, C 3R D
4. H3aC, D AR E
Options :
21052935045, 1
21052935046. 2
21052935047. 3
21052935048. 4

Question Number : 13 Question Id : 2105298927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Identify the characteristics of a good research hypothesis from the following
A. Amenable to empirical verification

B. Conceptual clarity in defining the variables

C. Plausibility of relationships postulated

D. Accessibility in terms of researcher's resources

E. Extent of its non-refutability

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and D only
3.C, D and E only
4. A Band Conly
Options :
21052935049. 1
21052935050. 2
21052935051. 3
21052935052. 4

Question Number : 13 Question Id : 2105298927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Fafafad 3 9 I8 Y UradbedH1 & 0 & GgdH DI ;
A, 3fsarHia® udeu arg

8. TRI Bl URHIYT B3 H SfAYRUNHD TPl

C. Uiduricd deui o1 G-Iy

D. Tefddl & Fidl & GgH H Ugd 8

E. 3HDI Sipleddl &I Al

i U e faeal # 9 w8l 3w gy -

1. ®ga B, C AR D
2. BadA, B 3R D
3. AU C, D 3R E
4, HIAA, B AR C
Options :
21052935049. 1
21052935050. 2
21052935051, 3
21052935052, 4

Question Number : 14 Question Id : 2105298928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A research scholar while writing his/her thesis uses ICT at various stages of research
conducted. He/she justifies the conceptual errors in interpreting results attributing the same to
the specific ICT devices. This will be labelled as

1. Technical incompetence

2. Research design’s inadequacy
3. Moral and ethical lapse

4. Human error

Options :

21052935053. 1

21052935054. 2

21052935055. 3

21052935056. 4

Question Number : 14 Question Id : 2105298928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

®ig el U Ty UeY fonad 9a iy & G g | o 9 31 (1CT) &1 TR &dT / Sl
2| dg uRumdf &1 Fded &3 | SfauRuTdD Jfdl & Tg! edl / 3edd! 8 HR 39d [¢U
faf2ry ams 1 &1 gidoal &f eR OFar/ 9T 61 390! el S :

1. AT HEHI

2. TN FEog & uaiad
3. Afd® SR Hifa-lgwas ot
4 qHEAG AE

Options :

21052935053. 1
21052935054. 2
21052935055. 3
21052935056. 4

Question Number : 15 Question Id : 2105298929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement |: Action research is cyclic in so far as it involves 'Plan-Act-Observe-Reflect’ cycle

Statement lI: The purpose of Action research is to develop a theory to explain causal
relationship among variables

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

21052935057. 1

21052935058. 2

21052935059. 3

21052935060. 4

Question Number : 15 Question Id : 2105298929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A C AT LS

©YH-| : [haTeT® U I gidl ¢ ddiis 3UH dioI-ehal-Gddaul-[GaRuN &1 9 QM
BT

HY-11 : BUTHD STHEH BT WaIoH TRl b slid DRUTHAD H&it B oURHT B 5 U [HGid
famfad &1 giaT 2|

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. TYF | 3R 1| GHf T8l 8

2. HYA | 3R 1 GIHf el T8l B

3. BYH-1 9e1 g, fbg dYH-11 981 181 |
4. DYH-1 TE! 7ol 6, foowq -1 98l 5|
Options :

21052935057. 1

21052935058. 2

21052935059. 3

21052935060. 4

Question Number : 16 Question Id : 2105298930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Shifting technologies and communication institutions contribute to

1. System integration

2. Temporal disintegration

3. Psycholegical disintegration
4. Spatial integration

Options :

21052935061. 1

21052935062. 2

21052935063. 3
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21052935064. 4

Question Number : 16 Question Id : 2105298930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

uRed-g Saiaret 3R 99R dwrel & eRu fEffed § s ufeasIEs -

1. [ TDiRT
2. gElge® faued

3. eI faged
4, WS THIHI0
Options :
21052935061. 1
21052935062. 2
21052935063. 3
21052935064. 4

Question Number : 17 Question Id : 2105298931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The positive impact of communication depends upon

A. Acceptance of barriers

B. Planning

C.Sudden expression

D. Media selection

E. Use of language

Choose the correct answer from the options given below:

1. A, B and D only
2. B, D and E only
3.C, D and E only
4. A, Dand E only
Options :
21052935065. 1
21052935066. 2
21052935067. 3
21052935068. 4

Question Number : 17 Question Id : 2105298931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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TOR & 9PRIAS Uy[E Fefifda dd P R axarg .
A, T B W@RAT
5. 3{TAeH

C. 3dH® HHaad

D. Hitsar 9a4

E. HTST &1 AR

- fgu e fd@real & 9 el Sw g
1. Pad A, B 3HR D

2. Hdd B, D 3R E

3. HAAC, D 3R E

4. HddA, D 3ARE

Options :

21052935065. 1

21052935066. 2

21052935067. 3
21052935068. 4

Question Number : 18 Question Id : 2105298932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Universality of communication makes education vital and vibrant
Reason R: Semiotic narration does not lend itself credence to make it an efficient mode of
teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935069. 1

21052935070. 2

21052935071. 3

21052935072. 4

Question Number : 18 Question Id : 2105298932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HTHHYA (A) : TN &1 UG 2181 S 9oild g Siiagd a4 g
dd (R) : Gibia® RS &0 &1 gyt 34 81 1 Gyg-iad ® 3 Tal 3aid |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG
2. (A) 3R (R) Gl g8l § 3R (R), (A) DI Te! AR T61 |
3. (A) W81 & U (R) W1 T8 |

4. (A) W8l Tl & U (R) T&I B

Options :

21052935069. 1

21052935070. 2

21052935071. 3
21052935072. 4

Question Number : 19 Question Id : 2105298933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 31/156



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

The chronological sequence in the development of communication system is
A. Emergence of language

B. Cave paintings

C. Interpersonal communication (verbal)

D. Appearance of printing technology

E. Telecommunication system

Choose the correct answer from the options given below

1.A B CED
2B EDCA
3.CD,EAB
4B, A CD,E
Options :

21052935073. 1
21052935074. 2
21052935075. 3
21052935076. 4

Question Number : 19 Question Id : 2105298933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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YT WUTTcl! o fAdh H SIadaraR el HIHhH o :

A. YIS &1 354

B. BT READRT

C. 3idagioad GHy ({HIE®)
D. H&U1 UIeifdh! @1 3ad

E. GYHTR UMl

< G U fa@eal § © U8l 39 &1 994 Sy :
1.A,B,CED

2.B,E D,C A

3.C,D,EAB

4.B,A CD,E

Options :

21052935073 1
21052935074 2

21052935075. 3
21052935076. 4

Question Number : 20 Question Id : 2105298934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List Il

Example Type of communication

A. Addressing the nation over national TV network|l. Horizontal communication

B. Conducting a workshop for a select number of |lI. Intra-personal communication
teachers

C. Internal conversation with fellow workers IIl. Mass communication

D. Recollection of past events V. Group communication

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
21052935077. 1
21052935078. 2
21052935079. 3
21052935080. 4

Question Number : 20 Question Id : 2105298934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| gal-Il
REHE IR & UbR
A. TG & dl edd W W Bl WEIUd B |1 Slfos geiw
B. g1 S o el & dRner sEifea |11, 3id: dafda®

GRE patav ol

C.ari BT & Y HITEIRE dradid 1. o TR

D. JHclld B g3l ] TRUI V. FHEITd GRINT
e fau e fasedl ©f @ U8l IR gHU:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
21052935077. 1
21052935078. 2
21052935079. 3
21052935080. 4

Question Number : 21 Question Id : 2105298935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements

Statement |: If the ratio of the speeds of A and B is a:b, then the ratic of the times taken by
them to cover the same distance is b:a

Statement |I: Suppose two men are moving in the same direction at u m/s and v m/s
respectively, where u > v, then their relative speed is (u+v) m/s

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052935081. 1

21052935082. 2

21052935083. 3

21052935084. 4

Question Number : 21 Question Id : 2105298935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A C AT LS

®YA-1: TG A 3R B BT TGl BT U a: b § dl GAM g 79 DA H I gRI AT 7T THY Bl
HUTd b : a BRI

Y-l : Wf’ﬂﬁlﬂaﬂﬁwmﬁm u m/s IR v m/s aﬁvﬁ-‘rﬁmﬁﬁaﬁu = u%l
df ST@! TTUfE® 71T (u+v) m/s BRTT

SWdd dBYHT & et H Fgifdd fddeal d§ I wgl 3w g -

1. DY | 3R 1| GHI Fgl

2. @Y | 3R 1| Al Tad &

3. &YH-1 9 &, foo=qg HY-11 Tad
4. DYH-1 38 8, foo=q BYH-11 T8l &
Options :

21052935081. 1

21052935082. 2

21052935083. 3

21052935084. 4

Question Number : 22 Question Id : 2105298936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following three expressions

A. 35+ 007

B. 2.5 + 0.0005

C.136.09 + 439

What is the correct descending order for the simplified values of A, B and C?
Choose the correct answer from the options given below

1.B=A>C
2C=A=B
3C=B=A
4B>C=A
Options :

21052935085.
21052935086.
21052935087.
21052935088.

AW O~

Question Number : 22 Question Id : 2105298936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Tofafag 3 avel ) TaR &1
A. 35 = 0.07
B. 2.5 = 0.0005

C.136.09 + 43.9

A, B 3R C & TRelldpd HH o Yol 3fdie! HH HI & ?

1.B=A>C
2C=A=B
3C=B=A
4B>C=A
Options :

21052935085.
21052935086.
21052935087.
21052935088.

AW O~

Question Number : 23 Question Id : 2105298937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following numbers are non-prime?

AT

B.13

C. 19

D. 217

E. 15

Choose the correct answer from the options given below:

1. A and E only
2. B and C only
3.Cand E only
4. D and E only
Options :
21052935089. 1
21052935090. 2
21052935091. 3
21052935092. 4

Question Number : 23 Question Id : 2105298937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Frofafad o ¥ ®F-d J=at yieg §@ g 2

A 11

B. 13

C.19

D. 21

£ 15

I feu 1T el § § T8l TR &1 90 oifvid

1. Bad A AR E
2. Paa B3R C
3. Had C 3R E
4, HAAD ARE
Options :
21052935089. 1
21052935090. 2
21052935091. 3
21052935092, 4

Question Number : 24 Question Id : 2105298938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Find the odd number in the following series
644, 328 164, 84 44 24 14

1. 44
2. 84
3. 164
4,328
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Options :
21052935093. 1
21052935094. 2
21052935095. 3
21052935096. 4

Question Number : 24 Question Id : 2105298938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fofafag &9 H O 3T T=I7 &1 udl ad

644, 328, 164, 84, 44, 24, 14

1. 44

2. 84

3. 164

4,328
Options :
21052935093. 1
21052935094. 2
21052935095. 3
21052935096. 4

Question Number : 25 Question Id : 2105298939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavita sold a mobile phone at the price of ¥ 1950 and made a loss of 25%. At what

price will she have to sell it to get a profit of 30%?

1. X 2600/-
2. X 2780/-
3. ¥ 3000/-
4. T 3380/-
Options :
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21052935097. 1
21052935098. 2
21052935099. 3
21052935100. 4

Question Number : 25 Question Id : 2105298939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Higdr = 25 Ufa=d &I 81 U 1950 394 H U AGSd B 9Tl 30% & a1 IR 39 JlE5d ®f
dgH g IY foaHil dIFd R g1 B ?

1. 2600 /- T9Y

2. 2780 /- ©UY

3. 3000 /- ©UY

4. 3380 /- Y

Options :

21052935097. 1

21052935098. 2

21052935099. 3
21052935100. 4

Question Number : 26 Question Id : 2105298940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the word HEART is written as SQPMZ, then EARTH can be written as

1. QPMSZ

2. QPMZS

3. QMPSZ

4, QMPZS
Options :
21052935101. 1
21052935102.2
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21052935103. 3
21052935104. 4

Question Number : 26 Question Id : 2105298940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TG HEART ®I SQPMZ & ¥4 H feRal 9ITd § ol EARTH @1 fhd dig RaT ST 9T & 7

1. QPMSZ

2. QPMZS

3. QMPSZ

4, QMPZS
Options :
21052935101. 1
21052935102. 2
21052935103. 3
21052935104. 4

Question Number : 27 Question Id : 2105298941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the sequence
10KL13, 15PQ18, 19TU22,
What will be last place?

1. 22VW23

2. 22VW24

3. 23XY25

4, 23XY26
Options :
21052935105. 1
21052935106. 2
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21052935107. 3
21052935108. 4

Question Number : 27 Question Id : 2105298941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HHH T 10KL13, 15PQ18, 19TU22, ___ 3fdH & TR &I R ?

1. 22VW23

2. 22VW24

3. 23XY25

4, 23XY26
Options :
21052935105. 1
21052935106. 2
21052935107. 3
21052935108. 4

Question Number : 28 Question Id : 2105298942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the statement 'the hill has smoke because it has fire', which type of fallacy may be
identified?

1. Asidha

2. Sadharana

3. Asadharana

4. \/yapyatvasidha
Options :
21052935109. 1
21052935110. 2
21052935111. 3
21052935112. 4
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Question Number : 28 Question Id : 2105298942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TRTST W Yl § &l 981 o1 &, 59 YA 4 54 UPR P 8alHE 8 2

1. 3R

2. HTERO

3. HHTYNOT

4, ATANEG
Options :
21052935109. 1
21052935110.2
21052935111. 3
21052935112. 4

Question Number : 29 Question Id : 2105298943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

All knowable objects are nameable;

The pot is a knowable object;

Therefore, the pot is nameable

The above is an example of which type of inference?

1. Kevalanvayi

2. Kevalavyatireki
3. Anvaya Vyatireki
4, Shesavat
Options :
21052935113. 1
21052935114.2
21052935115.3
21052935116. 4
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Question Number : 29 Question Id : 2105298943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 3 95g0 3ifieT

T UB T T B ;

29y, e HHET

IRIK T YR & SHH BT IGeX0 & ?

1. haaradl

2. Haq AT DI
3. Hag AL
4, qNaq
Options :
21052935113. 1
21052935114.2
21052935115.3
21052935116. 4

Question Number : 30 Question Id : 2105298944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List Il

Pairs Pairs of analogies
A. Newspaper - Press . Thirst - Water

B. Dog - Kennel Il. Cow - Calf

C. Hen - Chick II. Cloth - Mill

D. Darkness - Lamp IV. Mouse - Hole

Choose the correct answer from the options given below

TA-ILBE-IV,C-1,D-1
2ZA-ILB-IV,C-1I,D-1
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052935117. 1
21052935118.2
21052935119.3
21052935120. 4

Question Number : 30 Question Id : 2105298944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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-1 F T 1 -1 ST e T 3 A gRR FI

gal-|

-1l

A. GHER WA - U9 | & - T
B. @l : Al I3 d&sl
C. 4iff : gen . dusl : g
D. 3HERT : & V. 981 : faad

i<l fGU 10 fghedl # ¥ Hel 3wk g

TA-ILB-IV,C-1,D-1
ZA-ILB-IV,C-1,D-1I
3A-IV,B-1I,C-1,D-1I
4 A-1L,B-ILC-1I,D-1IV
Options :

21052935117. 1
21052935118. 2
21052935119. 3
21052935120. 4

Question Number : 31 Question Id : 2105298945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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List | List 11

A. Web browser . Hard Disk
B. Operating system Il. Chrome
C. Secondary memory 1l. MS-Word
D. Application software V. DOS

Choose the correct answer from the options given below:

TA-NLB-I,C-1,D-IV
2ZA-1L,B-IV,C-1,D-1I
3A-ILB-1,C-1,D-1IV
4 A-ILB-L,C-IV,D-1
Options :

21052935121. 1
21052935122. 2
21052935123.3
21052935124. 4

Question Number : 31 Question Id : 2105298945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

A, 99 FI3R HEES]
B. ST firey :ac

C. Ybug! TaR Il. T4 Ug-d8
D. G h e T dAR V. S

- feu T1u fasedl ¥ 981 IR gHU:

TA-NLB-I,C-1,D-IV
2ZA-1L,B-IV,C-1,D-1I
3A-ILB-1,C-1,D-1IV
4 A-ILB-L,C-IV,D-1
Options :

21052935121. 1
21052935122. 2
21052935123.3
21052935124. 4

Question Number : 32 Question Id : 2105298946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List I

A Software . Step by step procedure to solve a problem
B. Hardware Il. Raw facts and figures

C. Algorithm IIl. Hard Disk

D. Data V. Linux

Choose the correct answer from the options given below:

TA-NLB-1LC-I,D-IV
ZA-ILB-IL,C-1,D-1IV
3A-IV,B-I,C-1I,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

21052935125. 1
21052935126. 2
21052935127.3
21052935128. 4

Question Number : 32 Question Id : 2105298946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

A. QIRAWR |. GH1 FaRY 31 WS US i
B. BIodW 1. 9 Ud 3Hidba

CU@ATRYH 1. 218 &%

D.2Tel VAGIEGES!

- f&u 70 f9@eal § 9 el SOk g

TA-NLB-1LC-I,D-IV
ZA-ILB-IL,C-1,D-1IV
3A-IV,B-I,C-1I,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

21052935125. 1
21052935126. 2
21052935127.3
21052935128. 4

Question Number : 33 Question Id : 2105298947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What type of device is a joystick?

1. Input

2. Output

3. Memory

4. Processor
Options :
21052935129. 1
21052935130. 2
21052935131.3
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21052935132. 4

Question Number : 33 Question Id : 2105298947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WD {4 ThR &1 giad & 7

1.%14¢
2.3

3. HAR

4 TS
Options :
21052935129. 1
21052935130.2
21052935131.3
21052935132. 4

Question Number : 34 Question Id : 2105298948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an application software?

1. Android
2. 108

3. Linux

4. MS Word

Options :

21052935133. 1
21052935134.2
21052935135.3
21052935136. 4
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Question Number : 34 Question Id : 2105298948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FafaRad 5 9 ©F 91 ATh I Qiedal § ?

1. 75
2. 375 31 7Y
3. cllg-ad
ATATH TS
Options :
21052935133. 1
21052935134. 2
21052935135.3
21052935136. 4

Question Number : 35 Question Id : 2105298949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Information is

1. Raw data

2. Processed data

3. Redundant data

4. Always ordinal data
Options :
21052935137. 1
21052935138.2
21052935139.3
21052935140. 4

Question Number : 35 Question Id : 2105298949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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LCRIGE

1. ogdRYd Ued
2. garfed yed

3. Afded wed

4. GO HIES Ugd
Options :
21052935137. 1
21052935138.2
21052935139. 3
21052935140. 4

Question Number : 36 Question Id : 2105298950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence in increasing order of the carbon content per unit mass of the
following reservoirs of carbon in terrestrial environment

A. Plants

B. Peat

C. Soil organic matter

D. Fossil fuels

Choose the correct answer from the options given below

1.B,ACD

2 A CBD
3.B.C,D A
4.B,A D C
Options :
21052935141. 1
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21052935142.2
21052935143. 3
21052935144. 4

Question Number : 36 Question Id : 2105298950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

RTY ardIaeyl § Sla- & Haidad HSRI & Ufd Sils G009 @I dlad J31 & §6d gU ®F @l
el 3w H fafsd pifee :

A. Ui

B. Uig (Ufe)

C. el & dlai-d ey

D. SiTared 344

- f&u 7Y faceal & 9 W5l SR gHY -

1.B,ACD
2 A CBD
3.B.C,D A
4.B,A D C
Options :
21052935141.
21052935142.
21052935143.
21052935144.

AW N~

Question Number : 37 Question Id : 2105298951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Lakes are less prone to getting polluted than rivers
Reason R: Water in lakes gets replaced through natural processes

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935145. 1

21052935146. 2

21052935147.3

21052935148. 4

Question Number : 37 Question Id : 2105298951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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B (a) - Sict Afeal @1 oan $H Ugtd - @ AR Ugd 6|
@ (R) : Sl 5t Wil wferarstt g1 ufkafdd giar g
S U B e & Fifed R 7 3 gaiie ST SR g

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

21052935145. 1

21052935146. 2

21052935147. 3

21052935148. 4

Question Number : 38 Question Id : 2105298952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Under Millenium Development Goal 5, maternal mortality ratio between 1990 and 2015 was to

be reduced by

1. 50 %
2.75%

3.66 %

4. 40 %
Options :
21052935149. 1
21052935150. 2
21052935151.3
21052935152. 4
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Question Number : 38 Question Id : 2105298952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hedlis (Fcf1am) fde™ d5g s & idid, 1990 3R 2015 & A AlGP el [bd-il HH B
3fuférd o 2

1. 50 %
2.75%

3.66 %

4. 40 %
Options :
21052935149. 1
21052935150. 2
21052935151. 3
21052935152. 4

Question Number : 39 Question Id : 2105298953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the classification of Ministry of New and Renewable Energy and Central Electricity

Authority of India, small hydro power plants have capacity in the range

1. 1-25 MW

2. 100-1000 kW
3. 1-50 MW

4. 1-100 kW
Options :
21052935153. 1
21052935154. 2
21052935155. 3
21052935156. 4
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Question Number : 39 Question Id : 2105298953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

74 TYT FABRUITE Sl HATe 3R HRAIG B4 [aggd WIH 0l & Fibul & S8R Y o
e GO D1 &1 Bl G 8

1.1 - 25 @

2. 100 - 1000 f@amEre
3.1 - 50 H@IE

4.1 - 100 famare
Options :
21052935153, 1
21052935154. 2
21052935155. 3
21052935156 4

Question Number : 40 Question Id : 2105298954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

India's first National Pclicy on Education was a sequel to the recommendations of which of the

following committee/commissions?

1. Kothari Commission

2. Mudaliyar Commission

3. Ramamurti Review Committee
4, Radhakrishnan Commission
Options :

21052935157. 1

21052935158. 2

21052935159. 3

21052935160. 4

Question Number : 40 Question Id : 2105298954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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fRre R HRd &1 ugdl ¥y Hifd Frafclfad fea afff / s ot st o1 uRoms 4 2

1. DISRT AT

2. HGICAR SR

3. TAH[A GAE AT
4. UTHWH SRR
Options :

21052935157. 1
21052935158. 2
21052935159. 3
21052935160. 4

Question Number : 41 Question Id : 2105298955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

'MEAT an MHRD scheme, aims at

1. Better learning outcomes in higher education

2. Facilitating medical entrance examination

3. Better financial resource management

4. Promoting 'SWATCHH' campuses under Swatchh Bharat Abhiyan
Options :

21052935161. 1

21052935162. 2

21052935163. 3

21052935164. 4

Question Number : 41 Question Id : 2105298955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 62/156



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

AR S B A TS U dT e g

1. 3= f21e & ggay JHfetrs uRoms

2. BfsHa Ud= Tiia &1 9d a1

3. SEaR [aug T9EH UseH

4, T8 YRA HaE & 3fdilad o U] &1 9®i=
Options :

21052935161. 1

21052935162, 2

21052935163, 3

21052935164, 4

Question Number : 42 Question Id : 2105298956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The first National Sports University (a Central Government University) is in the state of

1. Haryana

2. Manipur

3. Arunachal Pradesh
4. Punjab

Options :
21052935165. 1
21052935166. 2
21052935167. 3
21052935168. 4

Question Number : 42 Question Id : 2105298956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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yuH I§1a Wd fayfaerag @« fayfaeras) foa o 48

1. gigmon

2. AR

3. 3BT UG
4, Uarg

Options :
21052935165. 1
21052935166. 2
21052935167. 3
21052935168. 4

Question Number : 43 Question Id : 2105298957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following committees/commissions in their report recommended that science

Education and Research should receive high priority to accelerate national economy?

1. Acharya Narendra Dev Committee
2. Mudaliyar Commission

3. Radhakrishnan Commission

4. Kothari Commission

Options :

21052935169. 1

21052935170. 2

21052935171. 3

21052935172. 4

Question Number : 43 Question Id : 2105298957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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frafeiad wiafaar / smam H 9 fea 3o ufdde | e & fos Ty srdeuaw o1 dig
®- o o Tz 11ai ud 2ie D1 I Uiy fHedl Wi 5141 9ieT 2

1. 3™ A¥5ca aiifd
2. HGICAR SR

3. AYTHUH HANT

4, PSR A™RT
Options :
21052935169. 1
21052935170. 2
21052935171. 3
21052935172. 4

Question Number : 44 Question Id : 2105298958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Global emissions of carbon dioxide stagnated during the years 2014-2016

Reason R: Strong energy efficiency improvement measures and low carbon technologies were
deployed during 2014-2016

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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Options :
21052935173. 1
21052935174.2
21052935175.3
21052935176. 4

Question Number : 44 Question Id : 2105298958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HId Bl &Y [GU TN B : Ud @l HfHdmYH (A) R GHR &I dd (R) Pl T & -
HTHBYA (A) : BIE B3 AFSS BT HGHIHS Jodeid a8 2014 - 2016 & SR R 4TI

D (R) : 2014 - 2016 D TRH Hell Gadl GUR IUM R Y Bra- dhb-idbdl Heigdl §
TR g |

IWdd YA & 3ATeiie J Fgiied fadedl § I Taiftde Sugdd 3w 94 -

1. (A) 3R (R) THT TEl & 3R (R), (A) B! el AR g

2. (A) #R (R) GHT TE1 B 3R (R), (A) BT Hel SREAT &I 3
3. (A) U5l § IR (R) ol To! &

4. (A) el 981 8 T3] (R) 921 B

Options :

21052935173. 1

21052935174. 2

21052935175. 3

21052935176. 4

Question Number : 45 Question Id : 2105298959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A predatory journal is the one whose publishers

1. Publish for a fee with substandard or no peer reviewing

2. The publishers of journals have acquired the publishers of journals in similar disciplinary
domains

3. Publish without a fee but with proper reviewing

4. Insist on charging a fee for publishing after the manuscript has been accepted for
publication with proper reviewing and editing

Options :

21052935177. 1

21052935178. 2

21052935179. 3

21052935180. 4

Question Number : 45 Question Id : 2105298959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

sl oHd dg & forgd UaE®

1. AG-AH® JHuaT far v ey &, oo & fow yaifa s 8

2. YU SRIHHS & B uRmTe & UbRId! o Julferd o ol &

3. T691 Yeb & T eI ARIEIUT o 1Y UbTiRId bdl &

4, G TARIEU 3R GUTeH & 1Y YbI=H od Uigiad @1 Wibridl & §16 YHRH o Yeb &
NEIPEE G

Options :

21052935177. 1

21052935178. 2

21052935179. 3

21052935180. 4

Sub-Section Number : 3
Sub-Section Id : 210529344
Question Shuffling Allowed : Yes
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Question Id : 2105298960 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

The ceremonial use of slogans and catchwords in educational discussions raises the suspicion
of a tenuous linkage between thought and action. As stock phrases multiply and the talk
begins to take on an idealistic ring, the wary listener might well begin to wonder whether the
lip service paid to these concepts is connected with what actually goes on in classrooms. It is
difficult in this day and age to be opposed to democracy, creativity, and innovation in
education, but how are these attractive words related to the more mundane business of
teaching practice? The answer, of course, is that the two are often not related - a fact that
accounts for one of the most frequently recurring complaints among today's educators: the
all-too-obvious gap between theory (i.e., educational talk) on the one hand and practice on
the other.

The dissonance between what teachers say, or at least what their leaders say, and what they
do takes many forms and has several important consequences. For some, it lays the
groundwork for the development of a cynical outlook towards the admonitions of idealists
and the advocates of new and supposedly revolutionary practices. This cynicism, which grows
out of a prior sense of disillusionment, strikes many young teachers as they begin to
appreciate the unrealistic quality of several of the expectations aroused during the period of
their professional training. Teaching as actually experienced and as described in textbooks and
college courses often turns out to be to quite different states of affairs. The result is that
college instructors of education and other outsiders begin to be locked upon with suspicion
by many practitioners. Even the testimony of fellow teachers may be viewed suspiciously when
it conflicts with the listener's own experience in the classroom.

Sub questions
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Question Number : 46 Question Id : 2105298961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The use of stock phrases in educational discussions has tended to reveal

1. The linkage between thought and action

2. The difference between saying and doing in classroom contexts
3. The ceremonial importance of slogans

4. The idealistic ring of talks

Options :

21052935181. 1

21052935182. 2

21052935183. 3

21052935184. 4

Question Number : 47 Question Id : 2105298962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How are the idealistic concepts related to the routine practices in education?

1. They intertwine theory and practice

2. They make classroom teaching innovative

3. They make the business of education highly profitable

4. They lead to the identification of gap between theory and practice
Options :

21052935185. 1

21052935186.2

21052935187.3

21052935188. 4

Question Number : 48 Question Id : 2105298963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What is the sequel of lack of congruence between saying and doing as evident in teacher
behavior?

1. Opposition to revolutionary practices

2. Lays ground for frequent complaints

3. Emergence of disillusionment among teachers
4. Support to the admonition of idealists
Options :

21052935189. 1

21052935190. 2

21052935191. 3

21052935192. 4

Question Number : 49 Question Id : 2105298964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Why do young teachers appreciate the unrealistic quality of expectations?

1. Because of the cynical attitude among teachers

2. Because of the testimonial given by fellow teachers
3. Because of their professional training

4. Because of their own experience in teaching
Options :

21052935193. 1

21052935194. 2

21052935195.3

21052935196. 4

Question Number : 50 Question Id : 2105298965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The passage analyses

1. The linkage between language and discussions

2. The schism between theory and actual practice of teaching

3. The need to the use of high brow language in educational discussions
4. The importance of idealism in education

Options :

21052935197. 1

21052935198. 2

21052935199. 3

21052935200. 4

Question Id : 2105298960 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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= f3u e e @Y ufen ofiv wat % I9v Sife

Rfere ufagis & qemaier Ugl Ud ARI &1 SNu=iRe 00N 38 €14  aR § Jae dal &dl o
for i wd & & gad UeY §1 S9-99 3 U=iid Weal | SifiafE gidl & 9uT addid § ud
HGRATEl U2 ¢E- @I [Hadl 8, T Gorl 4idl 98 3%Y &3 o abdl & (& o Xeal & a H off
e Tdo- UK € &1 d 98 §d1 Uid § [ SaFTd 9wl &1 dRaidddl &l g1 3§ & g9 U
Il 1 R8T H didhdd, YorRiiedl Ud 9ddR & [d%g ofFl is- g1 auifd, I Hdhus U R
TaER | 311 ¥ ¥ y=fed farsi & fod- Ogl ugm® g

FIice, 3 aFi U Seftd el § - Ue Ul aRalasdl foge e o e 2t urg: e ga
4 gId € 991 [9sid Ud oUdeR § WPd: ORI JUsha aE- oI Hedl & | i 18 ded § Siydl
3% a1 St Bed & auT d ol Bd & 3949 Url SHare fadifa @3 wui F sifiyerad gidt € 9yt
s He<gqul Rl BT 2R 3 S1dl §1 Biaug it & e gg anexiard! uyuket ud aifig qur
Sifd®Rl TaeRl & YS! & Uid Ue Hcia-IdS 2P (b id &3 31 ATURIRI [AHid 2
Sl 81 g H S d HigH U Sfd T8 FRIRmEie sifiear U gl W S0 uds &1 ol §
o4 d 39 91d &1 Heqd $d € (& Aauids URE &1 3afy o Ui eydl ud 3uial @l
TToraT AU ¥ W §| U - T@l U4 dendarcdl & ureasmal ¥ aftld ud ey fRiEmr &
AT Ugq & 9d &1 URUTHEEY RIS & e Td =7 §Iesl dill &l i
ERI1 TeE @1 2fF U o8 oH o oid] & | Geant! fra@! gy i e v ofi Ueg & R 68 ad
€ Old U8 S&1 I U G-ardl o 34d & Y 98¢ Ui ofid & |

Sub questions

Question Number : 46 Question Id : 2105298961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Qefforep Taion 7 o TaRE GeaR! 3 Wi ) e FErRed A @ a1 Sguied e B

1. [doR ik o & &9 g8y

2. P& UG | ®al off Yol 91d 31 [dE o 3§ P & &d &l 3faX
3. ARl BT I0® A5

4. Al # seianicdl &1 ge

Options :

21052935181. 1

21052935182. 2

21052935183, 3

21052935184. 4

Question Number : 47 Question Id : 2105298962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HIGAE] HITURUY R8T H 70 HaeR 4 [P UeR U 9Si ¢ ?

1. 1 FUgid 3R o0deR & g § Sisdl &

2. T H&ITT &0 I Fa49! §911 & |

3. R1e a9 & B! AR §41dl 8

4,1 T9GId 3R T998R & 819 & 3tk &1 UgdH Harni ¢
Options :

21052935185. 1

21052935186. 2

21052935187. 3

21052935188. 4

Question Number : 48 Question Id : 2105298963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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218107 coagR H URGiEd SUHT iR T & dig T ®1 &l &1 591 URMH 8ial & ?

1. BIfG®R] HagR| @I f[ad |

2. dRER RIerd & §F4E usdl &l
3. et J Agdn @ ufd Tar el 81
4, eRiaeal & Yo & gaH
Options :

21052935189. 1

21052935190. 2

21052935191, 3

21052935192, 4

Question Number : 49 Question Id : 2105298964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U R1&/ IufEl &1 Saraiad qUEdl &1 U= & $d € 2

1. FRi&rpl & o9 TGl Ugii & SR

2. YearT gl gRT U T UHIUS & SRl
3. 37U YA TR & HRU

4, TRI&(U1 H 30 34T & BRUI

Options :

21052935193. 1

21052935194. 2

21052935195. 3

21052935196. 4

Question Number : 50 Question Id : 2105298965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. Y197 3R U=l & &9 984

2. e & Rrgid ok araid® sodeR & g fawig

3. Q&0 Faisil & = TR @1 YN & UORT BT SaRadmdl
4. Tian 9 sfgRidIG &1 Hg@

Options :

21052935197. 1

21052935198. 2

21052935199. 3

21052935200. 4

PART II Economics
Section Id : 210529110
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529345
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105298966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements
Statement |: Learning curve effect is related to a firm's long-run average cost curve

Statement lI: A swapped allocation is one that is Pareto efficient as well as an equitable
allocation

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052935201. 1

21052935202. 2

21052935203. 3

21052935204. 4

Question Number : 51 Question Id : 2105298966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Taa s RrmE:
BY-1 ; T Top UHTE BH o aiaidd bd arld dp J Safdd gl

HY-11 : ATTH H uRafdd (BS) e TH1 e & of IRel Ged g Iy - I 919 Gidesq)
HEeT Bl

SWdd dBYHT & et H Fgifdd fddeal d§ I wgl 3w g -

1. DY | 3R 1| GHI Fgl

2. @Y | 3R 1| Al Tad &

3. &YH-1 9 &, foo=qg HY-11 Tad
4. DYH-1 38 8, foo=q BYH-11 T8l &
Options :

21052935201. 1

21052935202. 2

21052935203. 3

21052935204. 4

Question Number : 52 Question Id : 2105298967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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For the given Income Consumption curve in the diagram, which one of the following is correct,

Good y
A

beyond point A?
LEG

I3
0 Good x

1. Goed x is inferior and Good y is normal
2. Good vy is inferior and Good x is normal
3. Good x and Good y are normal

4. Good x and Good y are inferior
Options :

21052935205. 1

21052935206. 2

21052935207. 3

21052935208. 4

Question Number : 52 Question Id : 2105298967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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I H U T 31 - Gud ab & Ya9 § 5 & & ©H ¥el g, A fdg & ugid

1. I x 9T 9Y1 3] y I a5 B |
2. T y °feTT aUl 95 x TH B

3. T x IR g5 y 9 o] & |

4. 9% x AR 9 y 9feq1 U 2|
Options :

21052935205. 1

21052935206. 2

21052935207. 3

21052935208 4

Question Number : 53 Question Id : 2105298968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List 11

A, Effectiveness of private market in dealing with externalities . Laffer curve

B. Relationship between increase in tax rate and tax revenue Il. Deadweight Loss
C. Dominant strategy lll. Coase Theorem
D. Controlling prices through effective price ceiling and a price floor|IV. Game Theory

Choose the correct answer from the options given below:

TA-NLB-1L,C-IV,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-N,C-1,D-1IV
4 A-ILB-L,C-1I,D-1IV
Options :

21052935209. 1
21052935210. 2
21052935211. 3
21052935212. 4

Question Number : 53 Question Id : 2105298968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

A. ST DRI Y Fued § (ol SR &1 gHIidmdl . THI

B. X - HIDHR H gfg 3R & Aeid & did Yoy 1. §d HR g1A
C. U&d AT Il B THg
D. WHTE] Hed HaUm- dUT g Jae & AeEq 4 g |IV. TH @l
[EREL i

- f&u 70 f9@eal § 9 el SOk g

TA-NLB-1L,C-IV,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-N,C-1,D-1IV
4 A-ILB-L,C-1I,D-1IV
Options :

21052935209. 1
21052935210. 2
21052935211. 3
21052935212. 4

Question Number : 54 Question Id : 2105298969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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For the production function, g = A L=KE:
A. The Coefficient A shows managerial efficiency

B. If a+p>1 then the production function exhibits increasing returns to scale

C. Marginal Rate of Technical Substitution of L for K is given by B—f
o

Q

D. The Marginal Product of Capital is given by By

Choose the correct answer from the options given below:

1. A, B and C only

2. A, B and D only

3. A, Cand D only

4. A B, Cand D only
Options :
21052935213. 1
21052935214. 2
21052935215. 3
21052935216. 4

Question Number : 54 Question Id : 2105298969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ST & [T = ar=ke, &l T Tel fadpea & -
A. TUNIE A TEYDT &FdT GRITT 3
B. fE a+p>1 8, Ol 3G UBR YA 5 dia®RI Uidhal @I Uaiid &dl g
cﬁ$ﬁm@mﬁﬁﬁ#ﬁmﬂwmmﬁmﬁﬂiﬁﬁmﬁmmm%

D. Yot &1 WHid® I gRI ;}g AN
1 feu U fadhedl ©§ © 981 SR g
1. Bad A, B3R C

2. BAAA, B3R D

3. BAAA, C3IR D

4.A B C3RD

Options :

21052935213, 1

21052935214. 2

21052935215. 3
21052935216. 4

Question Number : 55 Question Id : 2105298970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Presence of asymmetric information in the market causes which of the following?

A, Adverse selection

B. Marginal benefits of an additional unit of resources diminish with an increasing number of

unit of resources

C. Efficiency wages

D. Principal-Agent problem

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A and D only

4. A and C only
Options :
21052935217. 1
21052935218. 2
21052935219. 3
21052935220. 4

Question Number : 55 Question Id : 2105298970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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SeiR # rauHifod g ot Suffa @ FefifEd gl s -

A ADRKIHD di-

5. §1EHl & Ud JHfaRad Sz & dErd oy 3 &1 3 & oY oi" 991eH] & 33 ael ol
gl

C. &M ASIgA

D. U - fiddl g5

i f&u e fdoredl & ¥ 98l S 9 -
1. Pad A, B 3HR D

2. Hdd B, C 3R D

3. AT A 3R D

4. Had A MR C

Options :

21052935217. 1

21052935218. 2

21052935219.3
21052935220. 4

Question Number : 56 Question Id : 2105298971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The solution of the following game

Player B
By B; B;s
SA2 4 2
2Rl =5 =4
aAl2 6 -2
is given by

1. Value of game = 2. Best strategy for Players A and B are (A4 B4) respectively
2. Value of game = 2. Best strategy for Players A and B are (A4, Bq) or (A3, By) or Ay, B3)
respectively
3. Value of game = 2. Best strategy for Players A and B are (A3, Bq) respectively
4. Value of game = 2. Best strategy for Players A and B are (44, B3) respectively
Options :
21052935221. 1
21052935222.2
21052935223. 3
21052935224. 4

Question Number : 56 Question Id : 2105298971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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afaiad @a
faersr B
By B; Bs
Arl2 4 2
E A, [1 -5 —4‘
A L2 6 -2
BIEAS -

1. 99 &1 74 = 2, Faarst A 3R g & fu warad -Aifa H9=: (4, 8y) B

2. Wdl BT Hed = 2, [Gars! A &R B & ¢ gaias -ifd HE: (A4, B4) UGl (As, B) 314l (A4, B3)
gl

3. 99 B1 9 = 2, TEaS! A 3R 8 & o0 galad Ifd HH: (Ag, By) B

4. Wa BT A = 2, TGarS! a 3R g & g gafan Hifa H9: (a4, By) B

Options :

21052935221 1

21052935222. 2

21052935223. 3

21052935224, 4

Question Number : 57 Question Id : 2105298972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Market failure is caused due to the presence of

A. Poverty

B. Externalities

C. Market power

D. Private goods

Choose the correct answer from the options given below:

1. A and B only

2. B and C only
3.B,Cand D only
4. B and C only
Options :
21052935225. 1
21052935226.2
21052935227. 3
21052935228. 4

Question Number : 57 Question Id : 2105298972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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TSR @1 bl fhgm] JUIYTd & BRI Bl & -
A TR

B. STl °

C. doR Fidd

D. el axqd &

i feu v fasedl & € w8l SR 9
1. Had A 3T B

2. HAAB AR D

3. Hdd B, C3ARD
4. BAAB 3R C
Options :
21052935225. 1
21052935226. 2

21052935227. 3
21052935228. 4

Question Number : 58 Question Id : 2105298973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 89/156



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

Match List | with List 11

List | List 1l

A. Chamberlin .. Small group model

B. Sweezy Il. Kinked demand curve
C. Stackelberg lIl. Price leadership model
D. Fellner V. Reaction curves

Choose the correct answer from the options given below:

TA-LB-1N,C-IV,D-1
2ZA-1,B-1L,C-1I1,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-1L,B-II,C-1V,D-1
Options :

21052935229. 1
21052935230. 2
21052935231.3
21052935232. 4

Question Number : 58 Question Id : 2105298973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Gali-1 I Tali-11 & 9y GAferd Hiford -

| gal-Il
A, JrERIEH . 7Y Yg Hisd
B. Tdifaf I fhas AT %
C. Taaa Il 44 g Hisd
D. e RIGERIEED

e s e e

TA-LB-1,C-1IV,D-Il
ZA-ILB-1L,C-N,D-1V
SA-ILB-1L,C-1V,D-1
4 A-1L,B-ILC-1V,D-1l

Options :

21052935229. 1
21052935230. 2
21052935231.3
21052935232. 4

Question Number : 59 Question Id : 2105298974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Maximum Social Welfare is guaranteed where a competitive firm exhibits the following
condition [where MRPT,, is Marginal Rate of Product Transformation of x for y]

Price of x (Px)  Marginal Cost of x (MCx)

Price of v (Py) N Marginal Cost of y (MCy)

Px _ Total Cost of x

2. MRPTxy= E o Total Cost of v

3 MRPTsy= Px  Average Variable Cost ofx
' W= Py  Average Variable Cost of y

Px  Total variable Cost of x

RIBIRE Day= E " Total variable Cost of y

1. MRPTxy=
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Options :
21052935233. 1
21052935234. 2
21052935235.3
21052935236. 4

Question Number : 59 Question Id : 2105298974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HHIH GHITS BedIvl ®I TR Bldl &, el Udede HU- HafRad i ®f FaRid &idl & ;
y @ [T x & IdTE URGH & GH &2 (MRPTxy) :

x®THeI (Px) _ x I HIHA AN (MCx)

1. MRPTxy= - = :
VT YA (Py) |y B OE A (MCy)
 xPIpA AT
2 MRPTxy = S argqan

- MRpTar - PE x BT G IRGATe AT
' V= Py T o1 3ad gRad-Ri A
Px  x ol o dgd-Teid arTd

4 MRPDY = 3y T | wlod dRadRid @
Options :

21052935233.
21052935234.
21052935235.
21052935236.

AW O~

Question Number : 60 Question Id : 2105298975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Compared to a certain point on the Contract curve, a point above the Contract
curve is more efficient

Reason R: The Contract curve represents the locus of points where the marginal rate of
substitution between two goods is the same for both individuals

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935237. 1

21052935238.2

21052935239.3

21052935240. 4

Question Number : 60 Question Id : 2105298975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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i &l By RU U § : U Bl Sy (A) 3R GER &I deb (R) Hel ™1 & :

HHEHYA (A) : fodll Hpd 99 & Hiaud fdg & go-1 5, ha- df & SWR 3 [dg s
waldGd sidl 6

dth (R) : God- 9 [agail & (4G 99 @I FEUd Bl o, ool &l aeq3l & aid Wi B
HHid & G aafaaat & fog T 3

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI T6l SREAT T2l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

21052935237. 1

21052935238. 2

21052935239. 3

21052935240. 4

Question Number : 61 Question Id : 2105298976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A leftward shift in labour demand curve is caused by

1. Increase in wage rate

2. Decrease in wage rate

3. Increase in marginal productivity of labour
4. Decrease in marginal productivity of labour
Options :

21052935241. 1

21052935242.2

21052935243. 3
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21052935244. 4

Question Number : 61 Question Id : 2105298976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 HiT 9% H IEEdl [dd0 [hdd PRI B & ?

1. Aoigdl &R H gl

2. Holgdl eX H Sl

3. 9/ B YA IdGhdl § gl
4. 99 ! UiFid Ide® o Sl
Options :

21052935241. 1

21052935242. 2

21052935243. 3

21052935244, 4

Question Number : 62 Question Id : 2105298977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Cross elasticity of demand of metro rides is 0.8 and total ridership per day is 1.5 Lakh. If price

of bus rides rises by 5%, the change in total metro rides will be

1. 4000

2. 5000

3. 6000

4. 7500
Options :
21052935245. 1
21052935246. 2
21052935247.3
21052935248. 4

Question Number : 62 Question Id : 2105298977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

Hel YRl &1 517 &1 faka] did 0.8 § 3R Ufdied ©d 9aRi 1.5 T 8 | Ifc 9 YaRi &t
B 5% 64 &, dl Hel & dd YNl J dha-T 3R 31U -

1. 4000

2. 5000

3. 6000

4. 7500
Options :
21052935245. 1
21052935246. 2
21052935247. 3
21052935248. 4

Question Number : 63 Question Id : 2105298978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: High powered money is the source of all other forms of money that impact

money supply
Reason R: Credit is created by commercial banks

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935249. 1

21052935250. 2

21052935251. 3

21052935252. 4

Question Number : 63 Question Id : 2105298978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

s

Options :

21052935249. 1

21052935250. 2

21052935251.3

21052935252. 4

Question Number : 64 Question Id : 2105298979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

Absolute income hypothesis explains

1. Consumer behavior

2. Producer behavior

3. Inflation

4. Government expenditure
Options :

21052935253. 1
21052935254.2
21052935255.3
21052935256. 4

Question Number : 64 Question Id : 2105298979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fRUE (Absolute) 3T B GHcd-T [ a®| RS B & -

1. UHIFIT SHAER
2. 3dIGP AdeR
3. Hal Thlfd

4, WhRI g
Options :
21052935253. 1
21052935254. 2
21052935255. 3
21052935256. 4

Question Number : 65 Question Id : 2105298980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The cost of holding money by individuals

A. Loss of real value of money due to deflation

B. Foregone interest from savings

C. Utility foregone by not buying goods and services

D. Returns foregone by not holding other assets

Choose the most appropriate answer from the options given below:

1. B, C and D only
2. A, Band Conly
3. A, B and D only
4. A, Cand D only
Options :
21052935257. 1
21052935258. 2
21052935259. 3
21052935260. 4

Question Number : 65 Question Id : 2105298980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 99/156



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

Ffaaal gRT a1 LT @IS 94 & ard & -

A. Gg1 SaEBiTd & HRUI gl &I dRdldd HiFd i gli-

B. ddd W AT ard =419l @i g1

C. a3l 3R Harsfl Bi WG el B & SR JUTII B &1
D. 30 UGl & 9 T@- & BRI Ufdbd 1 Gal Siel

i feu 1 famedl 7 9 wel 3w g+

1. Had B, C, D

2. PATUA, B, C

3. BAdA, B, D
4. HIAA, C, D
Options :

21052935257 1
21052935258. 2
21052935259. 3
21052935260. 4

Question Number : 66 Question Id : 2105298981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The government multiplier is given by (where c = MPC and t = tax rate)

B S
K 1—(c—1t)
1
E'(].—C]'t
3 1
l=c—t
Pt S
"1—c(1—1t)
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Options :
21052935261. 1
21052935262. 2
21052935263. 3
21052935264. 4

Question Number : 66 Question Id : 2105298981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935261. 1
21052935262. 2
21052935263. 3
21052935264. 4

Question Number : 67 Question Id : 2105298982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order

A. Rational Expectation Doctrine

B. Keynesian Economics

C. Monetarism

D. Classical Economics

Choose the correct answer from the options given below

1.B,D,C A
2ADCEB
3.A,B,CD
4 D,B C A
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Options :
21052935265. 1
21052935266. 2
21052935267. 3
21052935268. 4

Question Number : 67 Question Id : 2105298982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FUfaad ®f SITHHUR HdRUT 3 -
A. Tad®! v &1 s
B. 4G S AU

C. gg1dTG

D. I e

i fau e fadedl @ Ul Swr 9y
1.B,D, C, A
2.A,D,CB
3.A B CD
4.D,B,C A
Options :
21052935265.
21052935266.

21052935267.
21052935268.

AW N~

Question Number : 68 Question Id : 2105298983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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IS and LM curve analysis explain

A. Product market equilibrium

B. Money market equilibrium

C. Capital market equilibrium

D. Foreign trade equilibrium

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. A and B only
4. Cand D only
Options :
21052935269. 1
21052935270. 2
21052935271.3
21052935272. 4

Question Number : 68 Question Id : 2105298983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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TS TH UUS Ud UH f3eiyor oaret sl & -

A. 3G SR dJa

B. el a9 |

C. Goft eI dda

D. fae=i samIR Jge

< feu T famedl 5 9 981 3w 9+ -
1. ®ad A 3R C

2.®ad A 3R D

3. Had A 3T B
4, &3 C AR D
Options :
21052935269. 1
21052935270. 2
21052935271. 3
21052935272 4

Question Number : 69 Question Id : 2105298984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following situations represents an economic investment in the national income
calculation?

A. Buying a newly constructed house for self-occupation

B. Buying of new shares

C. Buying a new car by a publishing house for delivering books
D. Buying a new car by a household

Choose the correct answer from the options given below:

1. A, B and C only

2. A, B, Cand D only
3. A, Cand D only

4. A and C only
Options :
21052935273. 1
21052935274. 2
21052935275. 3
21052935276. 4

Question Number : 69 Question Id : 2105298984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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YT 31 B AU A FrafiRed Rufad! # 9 1 91 sfide Haw @ -
A. W0 & T8 o Us 14 [ v &1 @l
B. 70 TR B @G
C. G| ol Tdod ®IF W YgdH o il U Gich HhIRIh gRI U =1 R Bl Wiia

D. Uth g §RI U 1l BR DI Wilg
i feu v fasedl & € w8l SR 9
1. BAdA, B 3R C

2. A B C3RD

3. BAAA, C3IR D

4. HAA A R C

Options :

21052935273. 1

21052935274, 2

21052935275.3
21052935276. 4

Question Number : 70 Question Id : 2105298985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What is the value of the equilibrium level of income for the data given below for an economy?
c =50+ 0.8 Yy

t=20%

| =100

G =30

1. 400

2. 300

3. 500

4. 600
Options :
21052935277 1
21052935278. 2
21052935279.3
21052935280. 4

Question Number : 70 Question Id : 2105298985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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U@ rfogae & o faU 71U 3ide & SUR 1 &1 Uga- R a1 8 :
c=50+08Yd

t=20%

| = 100

G =30

1. 400

2. 300

3. 500

4. 600
Options :
21052935277 1
21052935278. 2
21052935279.3
21052935280. 4

Question Number : 71 Question Id : 2105298986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Labour force participation rate is given by

Labour force
100

1.
Total populatimlx
5 No. of labour employed

Labour force
Labour force
x100

3.
Adult population
No. of labour employed

Adult population
Options :
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21052935281. 1
21052935282.2
21052935283.3
21052935284. 4

Question Number : 71 Question Id : 2105298986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

3 Ffad HifieRt & ualRid gidre -

YT Trfad
1, —————— x 100
S

P
5 ISR UT 4! o) T
' o i

Yy wrfad

3, ——————— x 100
IR W

. RIS W YTEes| &l S
EREGATELSTEI]

Options :

21052935281. 1

21052935282. 2

21052935283. 3

21052935284. 4

x 100

x 100

Question Number : 72 Question Id : 2105298987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GDP expressed in terms of current prices is called

1. Real GDP

2. Net Domestic Product
3. Nominal GDP

4, Gross National Product
Options :
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21052935285. 1
21052935286.2
21052935287.3
21052935288. 4

Question Number : 72 Question Id : 2105298987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FOHE Hedl & Yo H oad God Ui SdIG (SiSiU]) Heamdl 6 -

1. dRd(dd SilSidl

2. fHiad U IdIe (@S
3. UI¥dd (HifEAa) Siterdt
4. qHT IPE IdIG
Options :

21052935285. 1
21052935286. 2
21052935287. 3
21052935288. 4

Question Number : 73 Question Id : 2105298988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following equations represent national income identity?
AY=C+Il+X

BY=C+1+G+5S

CY=C+1+G+(X-M)

DY=C+Il+G+M

Choose the correct answer from the options given below:

1. A only

2. C only
3.B,Cand D only
4. A, B and D only
Options :
21052935289. 1
21052935290. 2
21052935291. 3
21052935292. 4

Question Number : 73 Question Id : 2105298988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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frafifad TRl # @ S AT 318 B UgdH &1 Haf-18d Bl § -
AY=C+Il+X

BY=C+1+G+S

CY=C+1+G+(X-M)

D.Y=C+1+G+M

513 fog T et 7 9 w8 SR AR

1. 3T A

2. ®ad C

3. $ad B, C 3R D
4 HIAA BIARD
Options :
21052935289. 1
21052935290. 2
21052935291, 3
21052935292, 4

Question Number : 74 Question Id : 2105298989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

| A

Options :
21052935293. 1
21052935294.2
21052935295.3
21052935296. 4

Question Number : 74 Question Id : 2105298989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

" ]
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Options :
21052935293. 1
21052935294. 2
21052935295. 3
21052935296. 4

Question Number : 75 Question Id : 2105298990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For any two equally likely, exhaustive and independent events A and B, P(AB) will be equal to

1.0

2.0.25

3.0.50

4.1

Options :
21052935297. 1
21052935298. 2
21052935299. 3
21052935300. 4

Question Number : 75 Question Id : 2105298990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

21 &l 99, T7d, 9ed Ud Wdd ge13l A 3R B & AU p (AB) fhUds sRIER BhI 2

1.0

2.0.25

3.0.50

4.1

Options :
21052935297. 1
21052935298. 2
21052935299. 3
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21052935300. 4

Question Number : 76 Question Id : 2105298991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935301. 1
21052935302. 2
21052935303. 3
21052935304. 4

Question Number : 76 Question Id : 2105298991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935301. 1
21052935302. 2
21052935303. 3
21052935304. 4

Question Number : 77 Question Id : 2105298992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935305. 1
21052935306. 2
21052935307. 3
21052935308. 4

Question Number : 77 Question Id : 2105298992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
L.
Options :
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21052935305. 1
21052935306. 2
21052935307. 3
21052935308. 4

Question Number : 78 Question Id : 2105298993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935309. 1
21052935310.2
21052935311. 3
21052935312. 4

Question Number : 78 Question Id : 2105298993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935309. 1
21052935310.2
21052935311. 3
21052935312. 4

Question Number : 79 Question Id : 2105298994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935313. 1
21052935314. 2
21052935315.3
21052935316. 4
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Question Number : 79 Question Id : 2105298994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935313. 1
21052935314.2
21052935315.3
21052935316. 4

Question Number : 80 Question Id : 2105298995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935317. 1
21052935318. 2
21052935319.3
21052935320. 4

Question Number : 80 Question Id : 2105298995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935317. 1
21052935318. 2
21052935319.3
21052935320. 4

Question Number : 81 Question Id : 2105298996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935321. 1
21052935322.2
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21052935323. 3
21052935324. 4

Question Number : 81 Question Id : 2105298996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935321. 1
21052935322.2
21052935323. 3
21052935324. 4

Question Number : 82 Question Id : 2105298997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935325. 1
21052935326. 2
21052935327.3
21052935328. 4

Question Number : 82 Question Id : 2105298997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935325. 1
21052935326. 2
21052935327.3
21052935328. 4

Question Number : 83 Question Id : 2105298998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
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Options :
21052935329. 1
21052935330. 2
21052935331.3
21052935332. 4

Question Number : 83 Question Id : 2105298998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935329. 1
21052935330. 2
21052935331.3
21052935332. 4

Question Number : 84 Question Id : 2105298999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935333. 1
21052935334.2
21052935335.3
21052935336. 4

Question Number : 84 Question Id : 2105298999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935333. 1
21052935334.2
21052935335.3
21052935336. 4
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Question Number : 85 Question Id : 2105299000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935337. 1
21052935338.2
21052935339.3
21052935340. 4

Question Number : 85 Question Id : 2105299000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935337. 1
21052935338.2
21052935339. 3
21052935340. 4

Question Number : 86 Question Id : 2105299001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935341. 1
21052935342. 2
21052935343.3
21052935344. 4

Question Number : 86 Question Id : 2105299001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.
Options :
21052935341. 1

21052935342. 2
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21052935343.3
21052935344. 4

Question Number : 87 Question Id : 2105299002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935345. 1
21052935346. 2
21052935347.3
21052935348. 4

Question Number : 87 Question Id : 2105299002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935345. 1
21052935346. 2
21052935347.3
21052935348. 4

Question Number : 88 Question Id : 2105299003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935349. 1
21052935350.2
21052935351.3
21052935352. 4

Question Number : 88 Question Id : 2105299003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
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Options :
21052935349. 1
21052935350. 2
21052935351. 3
21052935352. 4

Question Number : 89 Question Id : 2105299004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935353. 1
21052935354.2
21052935355.3
21052935356. 4

Question Number : 89 Question Id : 2105299004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935353. 1
21052935354.2
21052935355. 3
21052935356. 4

Question Number : 90 Question Id : 2105299005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935357. 1
21052935358. 2
21052935359.3
21052935360. 4
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Question Number : 90 Question Id : 2105299005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935357. 1
21052935358. 2
21052935359.3
21052935360. 4

Question Number : 91 Question Id : 2105299006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935361. 1
21052935362. 2
21052935363. 3
21052935364. 4

Question Number : 91 Question Id : 2105299006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[F

Options :
21052935361. 1
21052935362. 2
21052935363. 3
21052935364. 4

Question Number : 92 Question Id : 2105299007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A
Options :
21052935365. 1
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21052935366. 2
21052935367. 3
21052935368. 4

Question Number : 92 Question Id : 2105299007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935365. 1
21052935366. 2
21052935367. 3
21052935368. 4

Question Number : 93 Question Id : 2105299008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935369. 1
21052935370. 2
21052935371. 3
21052935372. 4

Question Number : 93 Question Id : 2105299008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935369. 1
21052935370. 2
21052935371.3
21052935372. 4

Question Number : 94 Question Id : 2105299009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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L.

Options :
21052935373. 1
21052935374.2
21052935375.3
21052935376. 4

Question Number : 94 Question Id : 2105299009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935373. 1
21052935374.2
21052935375. 3
21052935376. 4

Question Number : 95 Question Id : 2105299010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935377. 1
21052935378. 2
21052935379. 3
21052935380. 4

Question Number : 95 Question Id : 2105299010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935377. 1
21052935378.2
21052935379. 3
21052935380. 4
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Question Number : 96 Question Id : 2105299011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935381. 1
21052935382. 2
21052935383.3
21052935384. 4

Question Number : 96 Question Id : 2105299011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935381. 1
21052935382.2
21052935383.3
21052935384. 4

Question Number : 97 Question Id : 2105299012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935385. 1
21052935386.2
21052935387. 3
21052935388. 4

Question Number : 97 Question Id : 2105299012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
L.
Options :
21052935385. 1
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21052935386. 2
21052935387. 3
21052935388. 4

Question Number : 98 Question Id : 2105299013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935389. 1
21052935390. 2
21052935391. 3
21052935392. 4

Question Number : 98 Question Id : 2105299013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935389. 1
21052935390. 2
21052935391.3
21052935392. 4

Question Number : 99 Question Id : 2105299014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935393. 1
21052935394. 2
21052935395.3
21052935396. 4

Question Number : 99 Question Id : 2105299014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935393. 1
21052935394. 2
21052935395.3
21052935396. 4

Question Number : 100 Question Id : 2105299015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935397. 1
21052935398. 2
21052935399. 3
21052935400. 4

Question Number : 100 Question Id : 2105299015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935397. 1
21052935398.2
21052935399. 3
21052935400. 4

Question Number : 101 Question Id : 2105299016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935401. 1
21052935402. 2
21052935403. 3
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21052935404. 4

Question Number : 101 Question Id : 2105299016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935401. 1
21052935402. 2
21052935403. 3
21052935404. 4

Question Number : 102 Question Id : 2105299017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935405. 1
21052935406. 2
21052935407. 3
21052935408. 4

Question Number : 102 Question Id : 2105299017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935405. 1
21052935406. 2
21052935407. 3
21052935408. 4

Question Number : 103 Question Id : 2105299018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
Options :
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21052935409. 1
21052935410. 2
21052935411. 3
21052935412. 4

Question Number : 103 Question Id : 2105299018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935409. 1
21052935410.2
21052935411. 3
21052935412. 4

Question Number : 104 Question Id : 2105299019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935413. 1
21052935414. 2
21052935415. 3
21052935416. 4

Question Number : 104 Question Id : 2105299019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935413. 1
21052935414.2
21052935415.3
21052935416. 4
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Question Number : 105 Question Id : 2105299020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935417. 1
21052935418.2
21052935419. 3
21052935420. 4

Question Number : 105 Question Id : 2105299020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935417. 1
21052935418. 2
21052935419. 3
21052935420. 4

Question Number : 106 Question Id : 2105299021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935421. 1
21052935422. 2
21052935423.3
21052935424. 4

Question Number : 106 Question Id : 2105299021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935421. 1
21052935422.2
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21052935423. 3
21052935424. 4

Question Number : 107 Question Id : 2105299022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935425. 1
21052935426.2
21052935427. 3
21052935428. 4

Question Number : 107 Question Id : 2105299022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935425. 1
21052935426. 2
21052935427.3
21052935428. 4

Question Number : 108 Question Id : 2105299023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935429. 1
21052935430. 2
21052935431.3
21052935432. 4

Question Number : 108 Question Id : 2105299023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
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Options :
21052935429. 1
21052935430. 2
21052935431.3
21052935432. 4

Question Number : 109 Question Id : 2105299024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935433. 1
21052935434. 2
21052935435.3
21052935436. 4

Question Number : 109 Question Id : 2105299024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935433. 1
21052935434.2
21052935435.3
21052935436. 4

Question Number : 110 Question Id : 2105299025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935437. 1
21052935438.2
21052935439. 3
21052935440. 4
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Question Number : 110 Question Id : 2105299025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935437. 1
21052935438.2
21052935439. 3
21052935440. 4

Question Number : 111 Question Id : 2105299026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935441. 1
21052935442. 2
21052935443. 3
21052935444. 4

Question Number : 111 Question Id : 2105299026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935441. 1
21052935442.2
21052935443.3
21052935444. 4

Question Number : 112 Question Id : 2105299027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.
Options :
21052935445. 1

21052935446. 2
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21052935447. 3
21052935448. 4

Question Number : 112 Question Id : 2105299027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935445. 1
21052935446. 2
21052935447.3
21052935448. 4

Question Number : 113 Question Id : 2105299028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935449. 1
21052935450. 2
21052935451.3
21052935452. 4

Question Number : 113 Question Id : 2105299028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935449. 1
21052935450. 2
21052935451.3
21052935452. 4

Question Number : 114 Question Id : 2105299029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
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Options :
21052935453. 1
21052935454.2
21052935455. 3
21052935456. 4

Question Number : 114 Question Id : 2105299029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935453. 1
21052935454.2
21052935455.3
21052935456. 4

Question Number : 115 Question Id : 2105299030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935457. 1
21052935458.2
21052935459. 3
21052935460. 4

Question Number : 115 Question Id : 2105299030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935457. 1
21052935458. 2
21052935459. 3
21052935460. 4
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Question Number : 116 Question Id : 2105299031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935461. 1
21052935462. 2
21052935463. 3
21052935464. 4

Question Number : 116 Question Id : 2105299031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935461. 1
21052935462. 2
21052935463. 3
21052935464. 4

Question Number : 117 Question Id : 2105299032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[F

Options :
21052935465. 1
21052935466. 2
21052935467. 3
21052935468. 4

Question Number : 117 Question Id : 2105299032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A
Options :
21052935465. 1
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21052935466. 2
21052935467. 3
21052935468. 4

Question Number : 118 Question Id : 2105299033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935469. 1
21052935470. 2
21052935471.3
21052935472. 4

Question Number : 118 Question Id : 2105299033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935469. 1
21052935470. 2
21052935471. 3
21052935472. 4

Question Number : 119 Question Id : 2105299034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935473. 1
21052935474. 2
21052935475.3
21052935476. 4

Question Number : 119 Question Id : 2105299034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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L.

Options :
21052935473. 1
21052935474.2
21052935475. 3
21052935476. 4

Question Number : 120 Question Id : 2105299035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935477. 1
21052935478. 2
21052935479. 3
21052935480. 4

Question Number : 120 Question Id : 2105299035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935477. 1
21052935478. 2
21052935479. 3
21052935480. 4

Question Number : 121 Question Id : 2105299036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935481. 1
21052935482.2
21052935483. 3
21052935484. 4
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Question Number : 121 Question Id : 2105299036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935481. 1
21052935482. 2
21052935483.3
21052935484. 4

Question Number : 122 Question Id : 2105299037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935485. 1
21052935486. 2
21052935487. 3
21052935488. 4

Question Number : 122 Question Id : 2105299037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935485. 1
21052935486. 2
21052935487. 3
21052935488. 4

Question Number : 123 Question Id : 2105299038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
L.
Options :
21052935489. 1
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21052935490. 2
21052935491. 3
21052935492. 4

Question Number : 123 Question Id : 2105299038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935489. 1
21052935490. 2
21052935491. 3
21052935492. 4

Question Number : 124 Question Id : 2105299039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935493. 1
21052935494. 2
21052935495. 3
21052935496. 4

Question Number : 124 Question Id : 2105299039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935493. 1
21052935494. 2
21052935495.3
21052935496. 4

Question Number : 125 Question Id : 2105299040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935497. 1
21052935498. 2
21052935499. 3
21052935500. 4

Question Number : 125 Question Id : 2105299040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935497. 1
21052935498. 2
21052935499. 3
21052935500. 4

Question Number : 126 Question Id : 2105299041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935501. 1
21052935502. 2
21052935503. 3
21052935504. 4

Question Number : 126 Question Id : 2105299041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935501. 1
21052935502. 2
21052935503. 3
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21052935504. 4

Question Number : 127 Question Id : 2105299042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935505. 1
21052935506. 2
21052935507. 3
21052935508. 4

Question Number : 127 Question Id : 2105299042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935505. 1
21052935506. 2
21052935507. 3
21052935508. 4

Question Number : 128 Question Id : 2105299043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935509. 1
21052935510.2
21052935511. 3
21052935512. 4

Question Number : 128 Question Id : 2105299043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
Options :
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21052935509. 1
21052935510. 2
21052935511. 3
21052935512. 4

Question Number : 129 Question Id : 2105299044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935513. 1
21052935514.2
21052935515.3
21052935516. 4

Question Number : 129 Question Id : 2105299044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935513. 1
21052935514.2
21052935515. 3
21052935516. 4

Question Number : 130 Question Id : 2105299045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935517. 1
21052935518. 2
21052935519.3
21052935520. 4
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Question Number : 130 Question Id : 2105299045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935517. 1
21052935518.2
21052935519. 3
21052935520. 4

Question Number : 131 Question Id : 2105299046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935521. 1
21052935522. 2
21052935523.3
21052935524. 4

Question Number : 131 Question Id : 2105299046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935521. 1
21052935522. 2
21052935523.3
21052935524. 4

Question Number : 132 Question Id : 2105299047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935525. 1
21052935526.2
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21052935527. 3
21052935528. 4

Question Number : 132 Question Id : 2105299047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935525. 1
21052935526.2
21052935527. 3
21052935528. 4

Question Number : 133 Question Id : 2105299048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935529. 1
21052935530. 2
21052935531.3
21052935532. 4

Question Number : 133 Question Id : 2105299048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935529. 1
21052935530. 2
21052935531.3
21052935532. 4

Question Number : 134 Question Id : 2105299049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
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Options :
21052935533. 1
21052935534.2
21052935535.3
21052935536. 4

Question Number : 134 Question Id : 2105299049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935533. 1
21052935534.2
21052935535. 3
21052935536. 4

Question Number : 135 Question Id : 2105299050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935537. 1
21052935538.2
21052935539. 3
21052935540. 4

Question Number : 135 Question Id : 2105299050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935537. 1
21052935538.2
21052935539. 3
21052935540. 4
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Question Number : 136 Question Id : 2105299051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935541. 1
21052935542.2
21052935543.3
21052935544. 4

Question Number : 136 Question Id : 2105299051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935541. 1
21052935542.2
21052935543. 3
21052935544. 4

Question Number : 137 Question Id : 2105299052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935545. 1
21052935546. 2
21052935547. 3
21052935548. 4

Question Number : 137 Question Id : 2105299052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.
Options :
21052935545. 1

21052935546. 2
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21052935547. 3
21052935548. 4

Question Number : 138 Question Id : 2105299053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935549. 1
21052935550. 2
21052935551.3
21052935552. 4

Question Number : 138 Question Id : 2105299053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935549. 1
21052935550. 2
21052935551.3
21052935552. 4

Question Number : 139 Question Id : 2105299054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935553. 1
21052935554.2
21052935555.3
21052935556. 4

Question Number : 139 Question Id : 2105299054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
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Options :
21052935553. 1
21052935554. 2
21052935555. 3
21052935556. 4

Question Number : 140 Question Id : 2105299055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935557. 1
21052935558.2
21052935559. 3
21052935560. 4

Question Number : 140 Question Id : 2105299055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935557. 1
21052935558.2
21052935559. 3
21052935560. 4

Sub-Section Number : 2
Sub-Section Id : 210529346
Question Shuffling Allowed : Yes

Question Id : 2105299056 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

L.
Sub questions
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Question Number : 141 Question Id : 2105299057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935561. 1
21052935562.2
21052935563. 3
21052935564. 4

Question Number : 142 Question Id : 2105299058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935565. 1
21052935566. 2
21052935567. 3
21052935568. 4

Question Number : 143 Question Id : 2105299059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935569. 1
21052935570. 2
21052935571. 3
21052935572. 4

Question Number : 144 Question Id : 2105299060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935573. 1
21052935574. 2
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21052935575. 3
21052935576. 4

Question Number : 145 Question Id : 2105299061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935577. 1
21052935578. 2
21052935579. 3
21052935580. 4

Question Id : 2105299056 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

L.
Sub questions

Question Number : 141 Question Id : 2105299057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935561. 1
21052935562. 2
21052935563. 3
21052935564. 4

Question Number : 142 Question Id : 2105299058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
Options :
21052935565. 1
21052935566. 2
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21052935567. 3
21052935568. 4

Question Number : 143 Question Id : 2105299059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935569. 1
21052935570. 2
21052935571.3
21052935572. 4

Question Number : 144 Question Id : 2105299060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :

21052935573. 1

21052935574. 2

21052935575. 3

21052935576. 4

Question Number : 145 Question Id : 2105299061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935577 1
21052935578. 2
21052935579. 3
21052935580. 4

Sub-Section Number : 3
Sub-Section Id : 210529347
Question Shuffling Allowed : Yes
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Question Id : 2105299062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No
Question Numbers : (146 to 150)
Question Label : Comprehension

L.
Sub questions

Question Number : 146 Question Id : 2105299063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935581. 1
21052935582. 2
21052935583.3
21052935584. 4

Question Number : 147 Question Id : 2105299064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935585. 1
21052935586. 2
21052935587. 3
21052935588. 4

Question Number : 148 Question Id : 2105299065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935589. 1
21052935590. 2
21052935591.3
21052935592. 4
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Question Number : 149 Question Id : 2105299066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935593. 1
21052935594.2
21052935595. 3
21052935596. 4

Question Number : 150 Question Id : 2105299067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L.

Options :
21052935597. 1
21052935598. 2
21052935599. 3
21052935600. 4

Question Id : 2105299062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

P A
Sub questions

Question Number : 146 Question Id : 2105299063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935581. 1
21052935582. 2
21052935583. 3
21052935584. 4
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Question Number : 147 Question Id : 2105299064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935585. 1
21052935586. 2
21052935587. 3
21052935588. 4

Question Number : 148 Question Id : 2105299065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

P A

Options :
21052935589. 1
21052935590. 2
21052935591. 3
21052935592. 4

Question Number : 149 Question Id : 2105299066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.

Options :
21052935593. 1
21052935594. 2
21052935595.3
21052935596. 4

Question Number : 150 Question Id : 2105299067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L
Options :
21052935597. 1
21052935598. 2
21052935599. 3
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21052935600. 4
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